£ Y
8] . I

\b

« ‘"J?

YpOK Ha TeMy « YnpoLjeHue
BbipaXXeHnn»( 5 knacc)

MOBY «HoBo4epkacckasa COLL»
bynaakosa J1.I1 ¢
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\ YnpocTtuThb
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* 16X +x -3x 5a -3aB +8a

~ *18xy +28xy -4 73c +29¢ +27c
+5x+6x+Ty +8y  37a +42B -53c
e 12x -4x -3 4y +5y -9y +6

+5a-2a +7 8B +158B -6

;
i
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¥ PewnTb ypaBHEHUS

e7x=49 a-800=1000 2x+3x=10
e100+y =300 18:c=1 376-c=0
e 5x =25 5x -4 =31 14-y=35

24 :y=4 8y =72 96 -y =12
e2x+8=48 y:15=15 x-28=068



W OTBeTbI
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PaccMmoTpum ypaBHeHuUe

*3B+5B -1 =3 17a - 5a +4a -10=150

+ 8B -1=39 16a -10 =150
+88 =40 16a = 160
*B=095 a=10
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' PewuTb caMmoCTOATENbLHO

LAt o
L

¢ 17x -9x +2x -24  «5x+8x-21=18
- =36
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beu-lecm OOLLUMMN MHOXUTENb

e5a +5B -5 *50a +158B
¢10B -15¢c +20 +99C

e12a + 4B +36 °*4Xxy -4x +8xy
¢33 -6B -9 *15a -20B +10

*4x -8y +16



¥ camocrosTenbHas pabota

* YNPOCTUTb N HAUTWU  3HaYeHwue.
e 18x +23x —X npu x =37 42a -36a +a npu a =11

. Pewntb e YpaBHeHUue

e 5y +12y =3553 e 29B -16B = 9165

. BbiHecTHn e MHOXUTenb
ooLwmm e 27a +9B -45

* 8x -16y +80 « 56x +63y

e 20a -28B
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BbIinonHu npoBepKy

3agaHue |1 2 3

BapuaHTt (1480 |209 8(x-2y+10) 4(5a -7B)
1

BapuaHTt |77 705 9(3a+B-5); 7(8x +9y)
2




3agaHue Ha oom.

~ « MpuaymaTtb 3apaHUA Ha ynpoLyeHne
_ BbIpaXeHWUM;

~ * PewnTb nx.




